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HEAIE 2 279,500 279,500 | 100.00% 0] 0.00% 0 0.00%
ERSEINES 12,044,738 1,884,294 15.64% 0 0.00%| 10,160,444| 84.36%
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SXE 1,611,853 1,578,265| 97.92% 0] 0.00% 33,588 2.08%
stost2td= 5,460,012 5,459,871 100.00% 0] 0.00% 141 0.00%
stetet-of it 5,395,449 5,395,449 100.00% 0] 0.00% 0 0.00%
APt 64,563 64,422 99.78% 0 0.00% 141 0.22%
dHAE= 29,920,300 29,002,807 96.93% 575,354 1.92% 342,139 1.14%
2RSS 4,311,480 4,310,434 99.98% 0] 0.00% 1,046 0.02%
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&I |2 4,020,000 4,020,000 [ 100.00% 0] 0.00% 0 0.00%
sE& 4,020,000 4,020,000  100.00% 0] 0.00% 0 0.00%
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